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Enrollment No………………………. 

Diploma in Engineering (Polytechnic) 

Fourth Semester Examination, June-2021 

Fluid Mechanics & Hydraulic Machines [MED401T] 

Branch-ME 

Time: 3:00 Hrs                                                                          Max Marks 70 

 

Note : Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9 
 

 

Q.1         Multiple choice Question / oLrqfu"B iz’u [2×5=10] 

(i) Which one is in a state of failure- 
 dkSu lh foQyrk dh fLFkfr esa gS&   

 (a) Solid/ ,d Bksl  (b) Liquid/ rjy 

 (c) Gas/ xSl   (d) Fluid/ æo 

 

(ii)  The value of the compressibility of an ideal fluid is- 
 ,d vkn'kZ rjy inkFkZ dh laihfM+rrk dk ewY; gS& 

 (a) Zero/ 'kwU;  

 (b) Unity/ ,drk 

 (c) Infinity/ vuar   

 (d) More than that of a real fluid/,d okLrfod æo ls vf/kd 

 

(iii)   If a person studies about a fluid which is at rest, what will you call his 

 domain of study-  
 ;fn dksbZ O;fä fdlh rjy inkFkZ ds ckjs esa v/;;u djrk gS tks vkjke ls gS] rks vki 

 mlds v/;;u ds {ks= dks D;k dgsaxs& 

 (a) Fluid mechanics/æo ;kaf=dh  (b) Fluid statics/ æo LVSfVDl 

 (c) Fluid kinematics/ æo dhusesVhDl (d) Fluid dynamics/ æo xfr'khyrk 

 

(iv)  A small shear force is applied on an element and then removed. If the 

element regains its original position, what kind of an element can it be 
 ,d rRo ij ,d NksVk drjuh cy yxk;k tkrk gS vkSj fQj gVk fn;k tkrk gSA ;fn rRo  

 viuh ewy fLFkfr dks iwu% çkIr dj ysrk gSA rks og fdl çdkj dk rRo gks ldrk gS 

 (a) Solid / ,d Bksl   (b) Liquid / rjy 

 (c) Fluid / nzO;   (d) Gaseous/ xSlh; 
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(v) Which one is in a state of failure- 
 dkSu lh foQyrk dh fLFkfr esa gS&   

 (a) Solid/ ,d Bksl  (b) Liquid/ rjy 

 (c) Gas/ xSl   (d) Fluid/ æo 
 

Q.2.  (a) Define fundamental units and derived units. 
ekSfyd bZdkbZ;ksa vkSj O;qriUu bZdkbZ;ksa dks ifjHkkf"kr djsa& 

(b) Explain Reynolds number and Froude Number.  

 jsu‚YM dh la[;k vkSj Froude' number ifjHkkf"kr dhft,A 

 
Q.3   (a) Derive Bernoulli’s theorem for steady flow of an incompressible 

 fluid from consideration of momentum. 
   xfr ds fopkj ls ,d vlaxr æo ds fLFkj çokg ds fy, csjso cukSZyh dh çes;A 

        (b) An orifice meter with orifice diameter 10cm is inserted in a pipe of 

 20cm diameter. The pressure gauges fitted upstream and downstream of the 

 orifice meter gives readings  of 19.62 N/cm
2
 

 and9.81N/cm
2
respectively.coefficient of discharge is given as 0.6.Find the 

 discharge of water through pipe. 
    20 lseh O;kl dh ,d ikbi esa fNæ O;kl 10 lseh ds lkFk ,d fNæ ehVj Mkyk tkrk gSA  

 ncko xst yxk;k tkrk gS vkSj fNæ ehVj ds MkmuLVªhe dks 19-62 ,u / lseh 2 vkSj  9-81 ,u 

 / lseh 2 LisfDVªdyh ds jhfMax nsrk gSA fuoZgu dk xq.k 0-6 ds :i esa fn;k tkrk gSA ikbi ds 

 ek/;e ls ikuh dk fuoZgu crkb, 

 

Q.4  (a) What are flow measurement devices? Explain Rota meter with its 

 construction. And working.  
 çokg eki midj.k D;k gSa\ blds fuekZ.k vkSj dk;Z ds lkFk jksVk ehVj dh O;k[;k 

 dhft,A 

 (b) Define moment of momentum equation. Where this equation is 

 used? 
    laosx lehdj.k ds {k.k dks ifjHkkf"kr dhft,A bl lehdj.k dk mi;ksx dgka fd;k 

 tkrk gS\ 

 

Q.5  (a) If for a two-dimensional potential flow, the velocity potential is 

 given by ϕ=4x(3y-4), determine the velocity at the point(2,3). Determine the 

 steam function at this point also. 

 ;fn ,d f}&vk;keh laHkkfor çokg ds fy,] osx {kerk ϕ=4x(3y-4), }kjk fu/kkZfjr dh 

 tkrh gS] fu/kkZfjr djsa fcanq ij osx ¼2]3½A bl fcanq ij Hkki lekjksg dk fu/kkZj.k Hkh 

 dhft,A 

(b) What are pressure Gauges? Explain Bourdon tube pressure Gauge. 
 ncko xst D;k gSa\ cksjM‚u Vîwc çs'kj xst dks le>kb,A 

 

 

Q.6   (a) Define velocity potential function and stream function. 
 osx laHkkfor lekjksg vkSj LVªhe lekjksg ifjHkkf"kr djsaA 
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(b) Discuss the condition of equilibrium of a floating body. 
,d rSjrs gq, 'kjhj ds larqyu dh fLFkfr ij ppkZ djsaA 

 

Q.7  (a) What are manometers? State its types. Explain any two in detail. 
 eSuksehVj D;k gSA blds çdkj crk, fdlh Hkh nks dks foLrkj ls crk,aA 

(b) A wooden cylinder of specific gravity 0.6 and circular in cross-

section is required to float in oil (specific gravity 0.90).Find the L/D 

ratio for the cylinder to float with it’s longitudinal axis vertical in oil. 

Find L/D ratio for the cylinder to float with its longitudinal axis 

vertical in oil,  where L in height of cylinder and D is its diameter.   
 fof'k"V xq:Rokd"kZ.k 0-6 dk ,d ydM+h dk flysaMj vkSj ØkWl lsD’ku esa xksykdkj rsy ¼fof’k"V 

xq:Rokd"kZ.k 0-9½ esa rSjus dh vko’;drk gksrh gSA flysaMj ds fy, ,y@Mh vuqikr dks rsy esa 

yacor v{kka’k v{k ds lkFk rSjus ds fy,AflysaMj fd fy, ,y@Mh vuqikr dks rsy esa yacor 

v{kka’k v{k ds LkkFk ¶yksV djus ds fy, [kkstsa] tgka flysaMj dh fyu mpkabZ vkSj blds O;kl ds 

fMLdA 

 

Q.8  (a) Explain Various types of flow? 
   fofHkUu çdkj ds çokg dh O;k[;k dhft,A 

    (b) A rectangular plate 0.6mx1.2m is submerged in an oil bath of     

specific gravity 0.8.The maximum and minimum depth of the plate is 

1.6m and 0.75m from the free surface. Calculate the hydrostatic face 

on the plate and depth of center of pressure 

,d vk;rkdkj IysV 0.6mx1.2m fof’k"V xq:Rokd"kZ.k 0-8 ds rsy LFkku esa Mqck gqvk gSA 

IysV dh vf/kdre vkSj U;wure xgjkbZ eqDr lrg ls 1-6 ehVj vkSj 0-75 ehVj gSA IysV ds 

ncko vkSj ncko ds dsUnz dh xgjkbZ ij gkbMªksLVSfVd psgjs dh x.kuk djsa 

 

Q.9.  (a) Define some properties of fluid:- 
  nzo ds dqN xq.kksa dks ifjHkkf"kr djsaA 

 (a) Viscosity / fpifpikiu (b) Density / ?kuRo 

 (c) Vapor pressure  / ok"Ik ncko (d) Compressibility / laihM+u 

 (b) What is Venturimeter? State the expression of discharge through     

venturimeter. 
 osaVqfjesVj D;k gSA osaVqfjesVj ds ek/;e ls fuoZgu dh vfHkO;fDr jkT;A 
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Diploma in Engineering (Polytechnic) 

Fourth Semester Examination, June-2021 

Thermal Engineering [MED402] 

 Branch-ME 

Time: 3:00 Hrs                                                                          Max Marks 70 

Note : Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9 

 

Q.1         Multiple choice Question / oLrqfu"B iz’u      [2×5=10] 

(i)  An isobaric process, has constant ____ 

 ,d foLe;dkjh çfØ;k] fujarj _______ gSA 

 (a) density / ?kuRo    

 (b) pressure / ncko 

 (c) temperature / rkieku 
 (d) volume / vk;ru 
  

(ii)  Which of the following is an extensive property- 
 fuEufyf[kr esa ls dkSu ,d O;kid laEifRr gS- 

 (a) Volume / vk;ru   (b) Pressure / ncko  

 (c) Viscosity  / ';kurk  (d) All of the above / Åij ds lHkh    

 

(iii)  How is absolute pressure measured-  
 fujis{k ncko dSls ekik tkrk gS& 

(a) Gauge pressuere + Atmospheric pressure 
xst ncko $ ok;qeaMyh; ncko 

(b) Gauge pressuere - Atmospheric pressure  

 xst ncko - ok;qeaMyh; ncko 

(c) Gauge pressuere / Atmospheric pressure 

 xst ncko / ok;qeaMyh; ncko 

(d) None of the above 
buesa ls dksbZ Hkh ugha   

  

(iv)  The extensive properties of a system, _________ 

 ,d iz.kkyh ds O;kid xq.k] __________ 

(a) Are independent of the mass of the system  

flLVe ds nzO;eku ls Lora= gS   

(b) Depend upon temperature of the system 

 fLkLVe ds rkieku ij fuHkZj djrk gSA 

 

 

(c) Depend upon the mass of the system  

 flLVe ds nzO;eku ij fuHkZj djrs gSaA 
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` (d) None of these / buesa ls dksbZ ugha 

  

(v)  In an isolated system, ________ can be transferred between the system and its 

surrounding.  
 ,d i`Fkd ç.kkyh esa  ______   dks flLVe vkSj vkl ikl ds chp LFkkukarfjr fd;k tk ldrk gSA  

 (a) only energy  / dsoy mtkZ  

 (b) only mass  / dsoy tu 

 (c) both energy and mass/mtkZ vkSj nzO;eku nksukas         

 (d) neither energy nor mass  / u mtkZ u nzO;eku 

 

Q.2 (a) Give the two statements of second law of thermodynamics and prove their 

equivalence. 
FkeksZMk;ukfeDl ds nwljs dkuwu ds nks c;ku nsa vkSj mudk led{k lkfcr djsaA 

(b) What is Carnot cycle? Derive an expression for efficiency of a Carnot cycle. 
dkukVZ pØ D;k gSA ,d dkukZV pØ dh n{krk ds fy, ,d vfHkO;fDr çkIr djsa 

 

Q.3 (a) Discuss the heat engine and refrigerator cycle with the help of a neat sketch.? 
,d lkQ Ldsp dh enn ls ghV batu vkSj jsfÝtjsVj pØ ij ppkZ djsaA  

 (b) What is heat pump? Show that C.O.P. of a heat pump is greater than C.O.P. of a 

refrigerator. 
xehZ iai D;k gS\ fn[kkvks dh lhvksih ,d xehZ iai lhvksih ls vf/kd gSA ,d jsfÝtjsVj dkA 

  

Q.4 (a) What is constant volume process? Derive an expression for the work done, 

change in internal energy, heat transfer in constant volume process. 
fujarj ek=k çfØ;k D;k gS\ odZMksu ds fy, ,d vfHkO;fDr çkIr djsa vkarfjd mtkZ esa ifjorZu fujarj 

ek=k çfØ;k esa xehZ gLrkarj.kA 
(b) What is constant pressure process? Derive an expression for the workdone, 

change in internal energy, heat transfer in constant pressure process. 
fujarj ncko çfØ;k D;k gS\ odZMksu ds fy, ,d vfHkO;fDr çkIr djsa vkarfjd mtkZ esa ifjorZu fujarj 

ncko çfØ;k esa xehZ gLrkarj.kA 
 

Q.5 (a) What are Renewable energy sources? Explain any 3 in detail. 
 v{k; mtkZ L=ksr D;k gS\ fdlh Hkh rhu dks foLRkkj ls crk,aA 

 (b) State & explain zeroth law of thermodynamics. Also explain equation of state. 
 FkeksZMk;ukfeDl ds 'kwU; dkuwu dks crk,a vkSj le>k,A jkT; ds lehdj.k dks le>kb,A 

 

Q.6 (a) What are boiler? Classify it. 
ckW;yj D;k gS\ bls oxhZdr̀ dhft,A 

(b) What steam turbines? Classify it. 
Hkki Vjckbu D;k gS\ bls oxhZd`r dhft,A 

 

Q.7  (a) Explain three modes of heat transfer with suitable examples.  
mi;qDr mnkgj.kksa ds lkFk xehZ gLrkarj.k ds rhu rjhdsa crk,A 

(b) Explain the laws illustrated with modes of heat transfer. 
xehZ gLrkrja.k ds rjhdksa ls fpf=r dkuwuksa dh O;k[;k djsaA 

 

Q.8  (a) Explain with neat sketch working of two-stroke petrol engine and two-stroke  

            Diesel engine. 
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nks LVªksd isVªksy batu vkSj nks LVªksd Mhty batu ds dkedkth lkQ Ldsp ds lkFk le>kb,A 

(b) Explain with neat sketch working of four-stroke petrol engine and four-stroke 

diesel engine.  
pkj LVªksd isVªksy batu vkSj pkj LVªksd Mhty batu ds dkedkth lkQ Ldsp ds lkFk le>kb,A 

 

Q.9 (a) What is an Otto cycle? Show that the efficiency of the Otto cycle depands only 

on the compression ratio. 
 vksVks pØ D;k gS\ fn[kk,a fd vksVks pØ dh n{krk dsoy laihM+u vuqikr ij fuHkZj djrh gS\  

(b) What is an diesel cycle? Show the efficiency of the diesel cycle. 
Mhty pØ D;k gS\ Mhty pØ dh n{krk fn[kk,aA 
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Diploma in Engineering (Polytechnic) 

Fourth Semester Examination, June-2021 

Theory of Machines [MED403] 

Branch-ME 

Time: 3:00 Hrs                                                                          Max Marks 70 

Note: Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9 
 

 

Q.1         Multiple choice Question /        [2×5=10] 

(i)  One quaternary joint is equal to how many binary joints- 
 ,d prqHkqZt la;qä fdrus ckbujh tksM+ksa ds cjkcj gS & 

 (a) 4    (b) 3 

 (c) 2     (d) None of these / buesa ls dksbZ ugha 

  

(ii)  Scotch yoke mechanism is the inversion of- 
 Ld‚p ;ksd ra= dk foykse gS& 

 (a) Single slider kinematic chain / ,dy LykbMj dhusesfVd J`a[kyk
 

 (b) Double slider kinematic chain / Mcy LykbMj dhusesfVd psu 

 (c) Four bar chain / pkj ckj psu 

 (d) None of the above / buesa ls dksbZ Hkh ugha 

  

(iii)  Calculate torque acting on the crank if tangential force acting on the engine is 150  

 kN and 300 mm is the crank radius- 

 ØSad ij VkWdZ vfHku; dh x.kuk djsa] vxj batu ij vfHku; djus okyk Li'kZjs[kk cy 150 kN gS vkSj  

 300 feeh ØSad f=T;k gS& 

 (a) 45 kN-m \ 45ds,u&,e   (b) 500 kN/m \ 500 ds,u&,e 

 (c) 2 kN/m \ 2 ds,u&,e    (d) none of the above\ buesa ls dksbZ ugha 

  

(iv)  Calculate the thrust in connecting rod, if piston effort is 200 kN and crank makes an 

angle of 45o from TDC. Assume obliquity ratio = 3.5  
 कनेक्टिंग रॉड में जोर की गणना करें, यकि किस्टन का प्रयास 200 kN है और क्रैं क TDC से 45o का कोण  

 बनाता है। मान अनिुात = 3.5 मान लें 

 (a) 900.80 kN 

 (b) 204.20 kN 

 (c) 195.87 kN 

 (d) 970.02 Kn 
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(v)  One quaternary joint is equal to how many binary joints- 
 ,d prqHkqZt la;qä fdrus ckbujh tksM+ksa ds cjkcj gS & 

 (a) 4    (b) 3 

 (c) 2     (d) None of these / buesa ls dksbZ ugha 

 

Q.2 (a) A uniform disc of diameter 300 mm and of mass 5 kg is mounted on one end of 

an arm    of length 600 mm. The other end of the arm is free to rotate in a universal 

bearing. If the disc rotates about the arm with a speed of 300 r.p.m. clockwise, 

looking from the front, with what speed will it precess about the vertical axis? 
600 कममी की लिंबाई के एक छोर िर 300 कममी व्यास और द्रव्यमान 5 ककलोग्राम की एक समान कडस्क लगाई 

जाती है। हाथ का िूसरा छोर एक सार्वभौकमक असर में घूमने के कलए स्र्तिंत्र है। यकि कडस्क 300 आरिी.एम. की 

गकत से हाथ के बारे में घूमती है। घडी की किशा में, सामने से िेखकर, लिंबर्त धरुी के बार ेमें ्या गकत होगी? 
 

(b) Find the power transmitted by a belt running over a pulley of 600 mm diameter 

at 200 r.p.m. The coefficient of friction between the belt and the pulley is 0.25, angle 

of lap 160o  and maximum tension in the belt is 2500N. 
200 r.p.m िर 600 कममी व्यास की चरखी िर चलने र्ाली बेल्ट द्वारा पे्रकित शकि िाएिं। बेल्ट और चरखी के 

बीच घिवण का गणुािंक 0.25 है, गोि 160o का कोण और बेल्ट में अकधकतम तनार् 2500N है। 

 

Q.3 (a) Two parallel shafts, about 600 mm apart are to be connected by spur gears. One 

shafts is to run at 360 r.p.m. and the other at 120 r.p.m. Design the gears, if the 

circular pitch is to be 25 mm. 
िो समानािंतर शाफ्ट, लगभग 600 कममी अलग स्िूर कगयर से जडेु होते हैं। एक शाफ्ट 360 आरिी.एम. िर 

चलाना है और िूसरा 120 आरिी.एम. यकि गोलाकार किच 25 कममी होना है तो कगयर कडजाइन करें। 

(b) A cam drives of flat reciprocating follower in the following manner:During first 

120o rotation of the cam, follower moves outwards through a distance of 20 mm 

with simple harmonic motion. The follower dwells during next 30o of cam rotation. 

During next 120o of cam rotation, the follower moves inward with simple harmonic 

motion. The follower dwells for the next 90o of cam rotation. The minimum radius 

of the cam is 25 mm. Draw the profile of the cam. 
कनम्नकलकखत तरीके से फ्लैट िारस्िररक अनयुायी की एक कैम ड्राइर्: 

कैम के िहले 120o घूणवन के िौरान, अनयुायी साधारण हामोकनक गकत के साथ 20 कममी की िूरी के माध्यम से 

बाहर की ओर जाता है। अनयुायी कैमरे के घूणवन के अगले 30o के िौरान रहता है। कैमरे के घूणवन के अगले 

120o के िौरान, अनयुायी सरल हामोकनक गकत के साथ आगे बढ़ता है। अनयुायी अगले 90o के कलए रहता है 

कैम रोटेशन का। कैम का न्यूनतम कत्रज्या 25 कममी है। कैम की प्रोफाइल खींचे। 

  

Q.4 (a) A crank and slotted mechanism used in shaper has a centre distance of 300 mm 

between the centre of oscillation of the slotted lever and the centre of rotation of the 

crank. The radius of the crank is 120 mm. Find the ratio of the time of cutting to the 

time of return stroke. 
शेिर में उियोग की जाने र्ाली एक क्रैं क और स्लॉट तिंत्र में स्लॉट लीर्र के उत्सजवन के कें द्र और क्रैं क के घूणवन 

के कें द्र के बीच 300 कममी की िूरी होती है। क्रैं क का कत्रज्या 120 कममी है। ररटनव स्रोक के समय में कटौती के 

समय का अनिुात िाएिं। 

 (b) The flywheel of a steam engine has a radius of gyration of 1 m and mass 2500 

kg. The starting torque of the steam engine is 1500 N-m and may be assumed 
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constant. Determine: 1) Angular acceleration of the flywheel, and 2). Kinetic energy 

of the flywheel after 10 seconds from the start. 
एक भाि इिंजन की फ्लाईव्हील में 1 मीटर और द्रव्यमान 2500 ककलोग्राम की मात्रा होती है। भाि इिंजन का 

प्रारिंकभक टोक़ 1500 एन-मीटर है और इसे कस्थर माना जा सकता है। कनधावररत करें: 1) फ्लाईव्हील के कोणीय 

त्र्रण, और 2)। शरुुआत से 10 सेकिं ड के बाि फ्लाईव्हील की काइनेकटक ऊजाव। 

 

Q.5 (a) What is tangent cam? Find expression for velocity and acceleration of roller for 

such CAM. 
 VsatsaV dSe D;k gS\ bl rjg ds lh,,e ds fy, osx vkSj jksyj ds Roj.k ds fy, vfHkO;fä [kksft,A 

 (b) Define couple and moment of inertia. 
tM+rk vkSj tM+Ro ds {k.k dks ifjHkkf"kr dhft,A 

 

Q.6 (a) Define the following terms: / fuEu oäO;ksa dh O;k[;k dhft,%& 

(i) Crank/  ØSad    (ii) Rocker/ ?kqeko   

(iii) Crank & rocker mechanism /ØSad&j‚dj ra= 

(iv) Double & crank mechanism / Mcy ØSad ra= 

(v) Double & rocker mechanism / Mcy&j‚dj ra= 
 

(b) Write short notes on following: -/ fuEufyf[kr ij NksVs uksV~l fyf[k,%& 

(i) Creep in belt /  csYV esa jsaxuk 

(ii) Gruebler’s and Kutzbach’s criterion / Gruebler’s  vkSj Kutzbach’s ds ekunaM   

(iii) Law of Gearing / fx;fjax dk dkuwu 

 

Q.7 (a) A Discuss stability of two and four wheel vehicles on the basis of gyroscope. 
thjksLdksi ds vk/kkj ij nks vkSj pkj ifg;k okguksa dh fLFkjrk ij ppkZ dhft,A 

 (b) Find relations to determine velocity ratio and centre distance of helical gears. 
osx vuqikr vkSj gsyhdy fx;j dh dsaæ nwjh fu/kkZfjr djus ds fy, laca/k [kksft,A 

  

Q.8 (a) What are the requirements of high speed CAM? 
mPp xfr lh,,e dh vko';drkvksa D;k gSa\ 

(b) Define : Base circle, Pitch circle, Trace point, Pitch curve and pressure angle. 
ifjHkkf"kr dhft,%& csl ldZy] fip ldZy] Vªsl IokbaV] fip oØ vkSj çs'kj dks.k 
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Enrollment No………………………. 

Diploma in Engineering (Polytechnic) 

Fourth Semester Examination, June-2021 

Industrial Management [MED404] 

Branch-ME 

Time: 3:00 Hrs                                                                          Max Marks 70 

Note : Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9 

           Q.2 to Q.8 (12 Marks each) 

 

Q.1         Multiple choice Question / oLrqfu"B iz’u       (2x5=10) 

(i)  Elements of TQM includes  

 TQM ds rRoksa esa 'kkfey gSa& 

 (a) Continuous improvement  / fujarj lq/kkj 

 (b) Customer satisfaction / xzkgd lrqf"V  

 (c) Leadership / usr`Ro  

 (d) All the above /  mijksDr lHkh  

 

(ii)  The EHS Model based on PDCA Cycle starts from: 
               PDCA चक्र िर आधाररत EHS मॉडल कनम्न से शरुू होता है: 

 (a) Planning  / ;kstuk 

 (b) Policy / uhfr 

 (c) Procurement / [kjhn 

 (d) Processing /  çLaldj.k 

 

(iii)  In Total Productive Maintenance  unplanned downtime losses include; 
 Dqy mRiknd j[kj[kko esa vfu;ksftr MkmuVkbe gkfu;ks esa 'kkfey gSa 

 (a) Equipment Breakdown /  midj.k czsdMkmu     

              (b) Shift Changes /  f'kQV ifjorZu  

 (c) Unplanned maintenance/ vfu;ksftr j[kj[kko     

         (d) Options (A) & (C)/ fodYi ¼,½ vkSj ¼lh½ 

 

(iv)  (a)   50,000/     50-000   (b) - 45,000 / & 45-000 

 (c)   90,000/       90,000   (d)  -90,000 /     -90,000 a 

 

(v)  Equipment failure is 
 उिकरण कर्फलता है 

 (a)  Availability loss /  miyC/krk gkfu           (b) Performance loss / çn’kZu gkfu 

 (c)  Quality loss / xq.koRrk uqdlku               (d) OEE /  vks-bZ-bZ            
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Q.2 (a) Define the types of production.   
              mRiknu ds izdkj dks ifjHkf"kr dhft,A 

 (b) What is meant economic order quantity? Explain with graph.  

          vkfFkZd vkns’k ek=k D;k gS xzkQ ds lkFk le>kb,A 

 

Q. 3 (a) Mention the symbols used in method study. 
 fof/k v/;;u esa bLrseky izrhdks dk mYys[k dhft,A 

 (b)  Discuss automated process planning with line diagram.   
,d ykbu vkjs[k ds lkFk Lopkkfyr izfd;k ;kstuk ij ppkZ dhft,A 

 

Q.4 (a) What are the objectives of Plant maintenance? 
सिंयिंत्र रखरखार् के उद्देश्य ्या हैं?  

(b) What are the scientific principles adopted in designing a plant layout? 
िौधे के लेआउट को कडजाइन करने में अिनाए गए रै्ज्ञाकनक कसद्ािंत ्या हैं? 

  

Q.5 (a) list out the advantages of good maintenance.  
vPNs j[kj[kko ds Qk;ns lwphc) dhft,A 

(b) Explain the various factors that are considered for the selection of a site for a 

plant. 
,d ikS/ks ds fy, lkbV ds p;u ds fy, fopkj fd, tkus okys fofHkUUk dkjdks dks le>kb,A 

  

Q.6 (a) Write the elements of cost.  
Ykxr ds rRo fyf[k,A 

(b) Why the safety stock necessary ? 
Lqkj{kk LVkd D;ks t#jh gS\ 

 

Q.7 (a) What are the functions of line and staff organization? 
Ykkbu vkSj LVkQ laxBu ds dk;Z D;k gS\ 

(b) Describe the various factors affecting wage structure  
etnwjh lajpuk dks izHkkfor djus okys fofHkUu dkjdks dk o.kZu dhft,A 

 

Q.8 (a) What are the advantages and limitations of scheduled maintenance? 
vuqlqfpr j[kj[kko ds Qk;ns vkSj lhek, D;k gS\ 

(b) State and explain the functions of manager in an industry. 
          ,d m|ksx esa ,d izac/kd ds dk;ksZ dks jkT; vkSj le>kb, 
 

Q.9         (a) State the symbols used in method study. 
               fof/k v/;;u esa bLrseky izrhdks dks crk,A 

          (b) Write the objectives of work measurement. 
               dk;Z eki ds mÌs';ks dks fyf[k,A 
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Diploma in Engineering (Polytechnic) 
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Marketing Management [DE412] 
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Time: 3:00 Hrs                                                                          Max Marks 70 

Note : Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8 

 

Q.1        Multiple choice Question:              

(i)  The additional P’s of marketing are 
              कर्िणन के अकतररि िी हैं 
 (a) People, Physical evidence, Package / लोग, भौकतक साक्ष्य, िैकेज   

 (b) People, Physical evidence, Process / लोग, भौकतक साक्ष्य, प्रकक्रया   

 (c) People, Process, Packaging / लोग, प्रकक्रया, िैकेकजिंग 

 (d) Physical evidence, Process, Packaging / भौकतक साक्ष्य, प्रकक्रया, िैकेकजिंग 

  

(ii)  One of the features of marketing research is 
 कर्िणन अनसुिंधान की कर्शेिताओ िं में से एक है

 

         (a) It is multi-tasking / यह मल्टी टाकस्किं ग है 
 (b) It is multi-purpose / यह बहुउद्देश्यीय है 

 (c) It is multi-disciplinary / यह बहु-कर्ियक है     

 (d) It is multi-natured / यह बह-ुप्रकृकत है 
 

(iii)  The objective of Test Marketing is to 
                 टेस्ट माकेकटिंग का उद्देश्य है 

 (a) Test the market with consumers / उिभोिाओ िं के साथ बाजार का िरीक्षण करें  (b) 

Introduce product in open market / खलेु बाजार में उत्िाि का िररचय िें 

(c) Predict product’s performance and its future / उत्िाि के प्रिशवन और उसके भकर्ष्य की 

भकर्ष्यर्ाणी करें    

 (d) Test consumers with the product / उत्िाि के साथ उिभोिाओ िं का िरीक्षण करें 

 

(iv) Pricing is one of the essential components of 
               मूल्य कनधावरण आर्श्यक घटकों में से एक है 

 (a) Promotion mix / çeks’ku feDl  (b) Marketing mix / foi.ku feJ.k 

 (c) Product mix / mRikn feJ.k  (d) STP strategy / ,lVhih j.kuhfr 

 

(v)  Minimum Wages act is an example for –  
              न्यूनतम मजिूरी अकधकनयम इसके कलए एक उिाहरण है - 

 (a) Monetary policy /ekSfnzd uhfr     

 (b) Economic policy / vkfFkZd uhfr 
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 (c) Legislation / fo/kku       
 (d) Consumer protection / miHkksDrk lja{k.k 

           

Q.2 (a) What is importance of marketing? 

foi.ku dk egRo D;k gS\  

(b) Explain various internal factor of marketing. 

ekdsZfVax ds fofHkUu vkarfjd dkjdksa dh O;k[;k dhft,A 

 

Q.3 Differentiate between selling and marketing. 

 fcØh vkSj foi.ku ds chp varj crkb,A 

(b) Explain various external factor of marketing. 

ekdsZfVax ds fofHkUu ckgjh dkjdksa dh O;k[;k dhft,A 

 

Q.4 (a) Explain the new product development and macro environment. 

 u, mRikn fodkl vkSj eSØks i;kZoj.k dh O;k[;k dhft,A 

(b) Explain segmentation and sales promotion mix. 

foHkktu vkSj fcØh izpkj feJ.k le>kb,A 

 

Q.5 (a) Describe the function of packing. 

 iSfdax ds dk;Z dk o.kZu dhft,A 

(b) Describe nature of consumer behavior. 

miHkksDrk O;ogkj dh izd`fr dk o.kZu dhft,A 
 

Q.6 (a) What do you understand by PLC? 

ih-,y-lh- }kjk vki D;k le>rs gSaA 

(b) Describe function of sales men? 
lsYl esu ds dk;ksZa dks le>kbZ;sA 

 

Q.7  (a) Explain various type of product planning. 

fofHkUu izdkj dh mRikn ;kstuk dh O;k[;k dhft,A 

 (b) Define advertisting and personal selling. 

foKkiu vkSj O;fDrxr fcØh ifjHkkf"kr dhft,A 

 

Q.8  (a) Describe method of sales promotion?  

कबक्री ििोन्नकत की कर्कध का र्णवन करें?  

(b) Compare tradition and modern concept of marketing.. 

foi.ku dh ikjaifjd vkSj vk/kqfud vo/kkj.kk dh rqyuk dhft,A 

 

Q.9  (a) Describe factor affecting prize determination of product?  

 उत्िाि के िरुस्कार कनधावरण को प्रभाकर्त करने र्ाले कारक का र्णवन करें? 

(b)What is the importance of trade mark? 

 व्यािार कचह्न का महत्र् ्या है?  


